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program artest

implicit none

real :: a(100)

integer :: |

a(:) = 0e0

a(1:100:2) = (/(i,i=1,100,2)/)
write(*,*) a

stop

end program artest
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1) write(*,*) a 5) write(*,200) a
200 format(£10.5)
2) write(*,*) (a(1), 1=1,3)
6) write(*,100) a(1:3)

3) write(*,*) a(1:3) 100 format(3£10.5)
4) write(*,100) a 7) write(*,200) a(1:3)
100 format(310.5) 200 format(f10.5)
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a(:) = (/(2*i, i=1, 10)/)
b(;) = (/(-, i=11, 20)/)
9D TDEE, ROBEEZEITZ:
c =a*b
c = 2+a**b
¢ = sin(a)
{BL, HAHI1E100 format(10f15.5)Z AL K.

ﬁ




‘ » Grammar » Example ‘ » Solution

{5282

program examp?2
implicit none
integer :: i

real(8), dimension(10) :: a, b, ¢
a(:) = (/(2*i,i=1,10)/)
b(:) = (/(+i, i=11,20)/)
write(*,100) a
write(*,100) b
c=a*b

write(*,100) c
c=2+a**b
write(*,100) c

c = sin(a)
write(*,100) c

stop

100 format(10f15.5)

end program examp?2
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